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Paper — 5.1 : Entrepreneurship Development

Time : 3 Hours Max. Marks : 70
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Instruction : Answer should be completely either in English or in
Kannada.

SECTION - A
Answer any five of the following sub-questions. Each sub-question carries
2 marks. (5%2=10)
a) What is an Enterprise ? e
b) State any two features of venture capital. ‘ —

) \
c) What is ‘Action Plan’ of a business ? :f \

d) Write any four features of Partnership Firm. | 2\ wGF - 568 122
e) What is an ‘Industrial Estate’ ? w--:;"’_ ‘
f) Who is a ‘Corporate Entrepreneur’ ? —_—
g) Mention any four sources of long term capital for SSis.
SECTION -B
Answer any three of the following. Each question carries six marks. (3x6=18)

2.

& o=

What are the objectives of ‘Industrial Estate’ ?

Write a note on ‘SWOC'’ analysis of an entrepreneur.

Explain the significance of working capital for a business.

What are the different pattern of ownership of small scale industry ?

Explain the technical feasibility aspects of a business plan of small industry.
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SECTION - C

Answer any three questions. Each question carries 14 marks. (3x14=42)

L.
8.

9.

0.

1818

Explain the various financial assistance provided by IFCI and SIDBI to SSls.
Briefly explain the process of setting up a small scale industry.

What are the problems of women entrepreneurs ? Explain initiatives taken by
the Govt. to support women entrepreneurs in India.

Discuss the role of small scale industries in economic development of a
country.

Write a note on :

a) Business opportunity

b) Scanning the business environment.

. B BYNT CIRPYTRTTUL 0 YVT-T,INEN Lo, T3 wvT-T 3R

QTR 908N (5%2=10)
a) YVT, IO DOTWTER ?

b) mamewsm WOBTOPT C3NT)TTOTITH OB Sk MY, 39K,

C) &,BWTo0T ‘Fo0F odRed’ D0oTTeRd ?

d) Toeomnodd :u‘om;ab AURPYTRTTAR T, OFEAMTTY WS,

e) ‘§modTe TBes’ 0mTeRd ?

f) ‘Zosdpredees* VT, DOTT BT ?

9) m@aa;,awm 0T, T cARR)Te ToLO AT DEFFOFBE WOBTYE mwm@mv@‘
RO,
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33 NS CIRPYTTTR RS BN wuZor. B TF 6 LSovnva) werteoRTo3d.  (3x6=18)
2. '§modse BT’ [T0 033 BN, WBCWO.
3. wug oo ‘SWOC’ &g earodd wrf 639 wdoloD.
4. $,BHOBY, 109 LOBIIPT T, 3080 Bod Wi EOA.
5. ey, 3,:mes 90T, BROBIT Q0T T,500 BREONERY, DFOR.

6. e, T,IReD QT IOT F,WH0 CdemBoddQFT T208,F Fa0IF TT B0 LT IWOA.
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g Bung cnmmRTis Svec TERER u3on. B B 14 LourivRy werteonthet,
\ (3x14=42)

~7,IFCI 5352 SIDBI Bodrieo Ay, T mmeors cvmsonert 2edos H0F 5,508 ¢oF s
~ AEmodongR HmOL.

8. 9 T,=00e0 YVT,TOT MTIOD ,8,030030 Wi BoFTToN D[OA.
€0 ) [es) N =2

9. T YVT,A0NY xmzﬁﬂﬁe:o OSRRR) ? YTBTE, F&PD wdsmm* "’cga_)ea‘aﬂaﬁgﬁ
REoF O B,30neh [0 odreendne wif Do,

10. onFyse DORE SHFT e;azp%t%oda@ , Re9, QU3 TONY T, [T, WA WBOWD.
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11. ©F0 833363 w3000 :

a) [T STETNED

b) &, FTo0E WORT VF ees.




